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— 7990 VIR 9T K2 TP
Before he will come to transgress a ;799p% prohibition

OVERVIEW

The X3 amended the query of °2°2 27 that the question is regarding one who
placed dough in an oven 7°122 on naw; if he may be 777 the nd before it is baked
which will cause him to transgress an 77°p0 T0°X. Our MoOIN discusses the
consequences if we do not allow him to be 77717 (and the bread is baked), whether
he will be 779°p0 2°°11°1 or not.

nooIN asks:
219 990N ON 1Y YW XYW RVIV AMTIY 199010 ON 1T XN NIV NI 99NN ON)

And if you will say; what sort of query is this, whether they permitted him to
scrape off the bread; it is obvious that if we prohibit him he will not heed us?!'

Nv0IN answers:
— NYPY 2N RY 1NN RY ONT TUN )2 PNNY 19929 NP

And the R''29% answered that if the 2221 do not permit him to be 7717, then he

will not be liable for the 77%°?% punishment -
— 15 190N NNV 1 12 5Y MTI9N NINY P

since he is holding back from being 7711 because we forbid him.?

mooIn cites similar cases:
— (v x,a8 97 NYND P99 91021 ©HD91 129
And similarly in 2°192 noon at the end of R P9 the X7»3 states that regarding -
— 195 DY 01937 YNRYN 9NN nnth 29y

" The query is impractical. If the ruling would be that the 0'»2n forbid him to be 77 the no, he will still be 7717 the
no, because otherwise he will be facing a 7%°po 211 when the bread is baked (for he did it 7°m3)! See ‘Thinking it
over’ # 1.

% The query then is whether we permit him to be 77711 (and if he is not 777 he will be 79°p0 2»m"n), or whether we do
not permit him to be 71717 and therefore (since he is not 7717 because the o251 forbade him) he will not be 2™r»
779p0.

3 9y refers to the case of a *121 that was 1o 29y 9™3nn. According to 7"2 one who ceases to be an 7w (as in the case
of a 7™an1w 73 and performs 79°n), he is like one who is separating from a 12p and requires 1313772 1 '3 X1 (before
he is considered 71770) as if he were a nn Xnv. Therefore 11277 he cannot bring his 705 127p.

* axr (sprinkling of the nxur ) refers to a person whose seventh day of n» nXmw occurs on 1od 27y naw. Normally
he would receive the nXvn »» nXi7 on the seventh day and would be able to bring his 109 j27p. However, since the
seventh day is on nNaw, and nNXwvI "M DX is a MAw (for it is considered X723 NP°N) and is 11277 MOR, therefore we are
not i1t on him and he cannot bring the 105 127p.
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An % and 187 and 9218 the 2°non sustained their decree even in a n=»
situation® -

— 5o 7aynY 199 290X NI 1929 DININ N9 2990 KY RPN
It is evident that he is not n9> 2917 since it is the 3329 who forbade him from

offering the mo® 1277, Similarly by us he will not be 79°p0 21 since the 1327 prevent him
from being 7717 and preserving himself from 77°po 21n.

nooIN asks:
— NN 10‘,79@ NNINN XM 9nb’pv 2991 199 NN 2957 9NN ON)

And if you will say; and how will he come to be liable for 72°pg, since this is a

720 NNANT -
-NPYPO NOIN MY KDY NP NMTIT INYTA NN RNV 9N N PraTny Nyway

For at the time he was »27% the 2un2 np, perhaps he had in mind to be 7779
the no before it comes to an ;79520 MO (before it is baked)'" -

— ZaNannn nav XY 179 XOY 1)
And the fact that he was not 77719 is because perhaps he forgot the warning of
the o™7y.

> onpX is the knife with which one performs the 77°2 n*32. If one has a child or slave that requires 72 on “rw 5"
nawa ni? (and if there will be no n">12 the master will not be permitted to bring the nod 127p, for 1N23¥7 19731 N7
[see ,2> [X2] mnw]), and the 7K is in a different 7xn, so that there is an 1312772 MO°X to carry it from that 7% to
where the child is, one may not carry the 72rX and be 721 the 112772 0K even though this will hold back the
master from bringing a noo 127p.

% The punishment for not bringing a o9 1277 is N12. See 3 ,b (TMP¥A2) 12TH2.

"It is only in our case of T2 MN2 N9 P°277 that we can entertain the thought that if 10772 17°n7 X2, he will receive
2°p0 since he was 79112 P°2777. However in the three cases of 221K X1 77 where the person did nothing wrong, we
cannot even entertain the thought that the o°mdn will prevent him from bringing a 1105 1277 because of a maw, and
that he should receive N> through no fault of his own. We must therefore conclude that he will not receive n73, and
the only explanation is that he was prevented from bringing the 5"p because of the 11277 Mo°k. This indicates that if
the 7127 prevent someone from performing an act, then there is no consequence, for his lack of performance. (See
TO MR HRMIN nnn.)

¥ See “Thinking it over’ #2.

? The actual *2°2 277 X°¥2 is not necessarily in a case where there were 07y and 7X7n7; rather it is merely an MOX
2P0 (see previous R?X1 71"7 NwoN); however it is understood by referring to it as 72°pd MO°K, that if it would have
been RN 2>y there would be a 779°p0 2. (See 0" and m1an NRIM.)

' One is liable for the death penalty only if 27y warned him before the act and said that if you will perform this act,
you will be in°» 2»n . However, if there is a possibility that even if he performs this act he will not be n» 211
(for he is able to undo this act, etc.), this is called a poo nXn7 (a ‘doubtful warning’), and there is no n» 21n
(because the person did not take the 11%1ni7 seriously, for he knows that even if he does this act, he can still avoid 211
ann, by reversing the act, etc.).

' When the 0*7y warned him not to put the bread in the oven, they could not be sure that if he does put it in the oven
that he will be 7%2°po 21, since he has the option of removing the bread before it is baked.

"2 See “Thinking it over’ # 3.
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N1B0IN answers:
— ANANND SY 9137 515 PIN P31V 1197 TUN 3 PN 13529 XM

And the R''2%% answered; since he attached the dough to the oven within the

time span of saying '»37 7" 2w»w', after the warning from the witnesses
— NN POV NNINN IND NIT92 XD ONX NOAND INTI)

And the dough will certainly be baked if he does not scrape it off; it is not a

=50 RN -
— Pn%an 1P MTIY INYTa 70 XY OINNT

For he certainly had no intention of scraping it off before it is baked, therefore it
is not a PoO NXIN:T (as N1BOIN continues to explain).

mooin explains what is considered a P50 NXINT:
— *o%1an 5y OX NPIYA RN POD NNIND 21 K

And a pp® nRANT is not considered as such, unless (for instance) by the case of

291277 5 an P -
— 1503 K91 1502 (%10 91 many 19919 11 1IN P92 IINT INIY
According to the one who maintains Y>v2 XY Y2u3; there it is considered a poo nN7 -
—mvnYs XY IN 1993 MNAYS XY NDYT
For perhaps he will not break its wings or he will not slaughter it -
—IMINNY 1P919% 1PN 1993 9aYNY YY)
And now when he breaks its wings the 27V cannot warn him do not break the

wings for if you do break the wings, you will transgress the W of npn X7-
— 93y 925 N9 INDN Y NINX AININD XD NYT

" See “Thinking it over’ # 4.

' The 770 tells us (1-1,23 [X¥n] 2127) that if one chances on a bird sitting on her chicks or eggs he may not take the
mother bird with the chicks; rather he should sent away the mother and then take the chicks. This is called a N7
Twy? pne37, a prohibition that can be cancelled through an action. If one takes the mother he is 721 the % of npn X7
o°127 9y oxn. However, if he then sends away the mother he has corrected this 187 by observing the mwy of nmwn now
ax nX. The issue is, whether it is considered that he transgressed the X7 if he still has the opportunity to correct it.
W P2 W) maintains that as soon as he took the mother he transgressed the 87 and is Np2n 217, if he sends away the
mother bird before 7"°2 punished him, he is "o from Mpon. This is referred to as WP &7 mp. See following
footnote # 15.

' \o02 means he nullified or destroyed any chance of fulfilling the mwy; while Y2va X% means that there is still a
possibility of fulfilling the 7wy. It is 73 "1 who maintains that there is no mp%» 21’1 unless it is impossible for him
to do the 7wy of axn nX mown n7w; for instance if he killed the mother (this is called 17v32), then he will receive NPy,
however if there is still a possibility that he can fulfill the 7wy (it was Y202 &), then there is no mpon 2vn.

'® When the 0*7y warned him not to take the mother it was not certain whether by taking the mother he will
transgress the X7 of mpn X since (according to this 7"n of 1912 X771 1702) he is not 712w the W7 unless he was v the
7wy by incapacitating the mother; which we are not sure that he will do, therefore it is a P50 nXni.

17 The o™ are required to warn him before he does the act of the W7, which is taking the mother, but there can be no
valid 78707 after the act of the W2 was done.
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for it is not considered a proper warning (to receive Mpon), unless it is
regarding the prohibition (which is ripn &%), and he already transgressed the

prohibition, for he already took the mother and at that point there was no certainty that he
would break the wings of the mother. Therefore that is a 50 nX 7.

Mmoo offers another example where there is P50 NXINT:
— 17 DOIN DN 1T 995 YIIN NOYW NAWA 19

And similarly regarding the oath that I will not eat this loaf if I eat this other

loaf -
— manany 79998 9709 29999989 1999N)

And he first ate the prohibited loaf and he then ate the conditional loaf -
— 90N NYIIN NYVWA 13 PINNYIY

So when the 27V warned him at the time he ate the prohibited loaf -
— MPHN ANMY ONP ININ DY NDIIN NYYN 901NN 127y

It was still lacking the act of eating the conditional loaf before he can be liable
for mp’m and we do not know whether he will eat the conditional loaf, therefore it is P50 nXRN7

2 nYyn NYDINND NMANRA PN MNA N PXATHW NN YaN
However here when he attached the bread to the oven, the baking process
lacks no further action; it will be baked (and he will be 77’70 2>1°n) if nothing else is done.

SUMMARY

There is no punishment for transgressing an 70X if 7"°2 prohibits us from acting in
a way to prevent this punishment. 50 NX7n:7 is only where an action is required to
activate the punishment; if the 719°X will be done unless an action is taken then it is
not P50 NXRANT.

THINKING IT OVER
1. mooIn asks that he will certainly not listen to us (so what is the purpose of the

' This is the loaf he swore he would not eat.

' This is loaf which he said that if he eats it, he will not eat the other (the prohibited) loaf.

% When in order that the M1o°X be done (and punishment be meted out) it is necessary that another action take place
(incapacitating the mother, eating the loaf), we assume that these actions will not take place (for why should he harm
himself), therefore it is a 20 NXNA. The perpetrator is not concerned about the 7XN7 because he knows that to be
held liable he has to take further action and he can decide not to take that action. However, if in order for the T10°R
to take place no additional action is required (it is only to prevent the 710°R from taking place that action is required)
then we assume the status quo that no additional action will take place and therefore it is >X71 nXann. If the
perpetrator is planning to be 777 the no, why put it in, in the first place.
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query).”' This indicates that the query remains (whether 11°n77 or not), but moIn
asks that it is not a practical query. However, why should there be a query; since if
we forbid him he will be 79°p0 2, it is therefore a question of w1 mps, and
therefore we should permit him to be 7717?21*

2. mooIn cited cases where N9 @pra 0727 17AYa.> Why cannot we resolve the
°2°2 277 X°va that here too 737°p0 DIPH2 o727 YN [And if those cases are
different from N7 N7, how can MdOIN compare the cases?]

3. mooin asks that by noi 077 it is 290 NXNT and Mo0IN concludes his question
saying, IXNTN NOW XMW 771 X9w 7.7 Seemingly these words are superfluous!
Since at the time of the X077 the 2°7Y do not know whether or not he will be 7717,
it is a pod XN, What difference does it make why he was not 7711 later?!*°

4. mooin initially states that by no3 077 it is not a P50 NXRANT since ‘he certainly
did not have in mind to be 77711 before it is baked;”’ indicating that it is not a nX1n:
P50 because we assume that he will not be 7717, However, 2010 concludes that the
criterion whether it is a P20 DXNT or not depends (only) on whether if it is 207”7
Twyn (as by P mPw) or not (as by noi n»71). How can we reconcile these two
conflicting ideas?!*®

5. Why did not m»do1n ask his question on the 71wn which counts 79X as one of the
MARS» vY; that it is a ppo nxINA?

2 See footnote # 1.

22 See X"ow and W MK YXN NI,

2 See footnote # 8.

2 See 77 PP [and T MR YRR D).

2 See footnote # 12.

% See n"Am and T NIX HRMIN DA,

7 See footnote # 13.

2 See M MR HXMX AN 0" P93 (and TN IX)
» See [Tx7] R"wAn.
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